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The degree measure of each angle of a regular polygon with 20 sidcs is:

(a) 18° (b) -90° (c) 108°  (d) 135° () 162°

Solve: x%*-4x>0

(a) x<0 or x>24 (b) 0<x<4 (c) {0,4} (d) x>0 (e) x>0 or x<4

x2

Find the horizontal asymptote(s) for f(x) = »
xX“+9

(@ x=%3 () x=-9 (¢) y=1 d y=0 (e) x=0

Find x, where x> 0, such that the distance from (x,-5) to(-1,3) is 4\/5 units.

(@ 5 (b) 0 (c) 7 (dy 9 (e) 3
o 4., 24 . oy .
The path of a dive is given by y = —Ex + ry x + 10, where y is the height in feet and x is

the horizontal distance from the end of the diving board in feet. What is the maximum height of
the dive above the board given that the board is 10 feet high?

(a) 8.6feet (b) 4feet (c) 3feet (d) 10feet (e) 14 feet
Given f(x)=1-3xand g(x)=x +2, find {f ' 0 g H(1).

@) % ® -6  (© -1 @ —% (¢) undefined

In how many ways can 3 novels, 2 mathematics books, and 1 chemistry book be arranged on a
bookshelf if the novels must be together but the other books can be arranged in any order?

(a) 720 (b) 72 (c) 7 (d) 144  (e) 5040

The domain of the function f(x) =1In(5 - 4x) is

ot} ) [ 5. D © foe
(a)( >5] (b)( ,4} (c) (4) ) 0= (& (==



11
g% . g4
9 Simplify the expression:
V32
@3 ® WD @ oaE-s @ - © 2
10.  Find the values of 4 and B if: 4 B _ ¢l
x+2 2x-3 2x?+x-6
_ | S |
(a) A=-3 B=1 by 4=5 B=1 (c) A=7 B—4—7—
() A=—% B=-42 (e) A=3 B=-1
. -4 8 .
11. . Supply the value of x so that the matrix 4 = 3 J does pot have an inverse,
x
(a) 6 ®) 0 (c) 3 (d) -3 (e) -6
12, Find the sum of all zeros of Ax) =x® + 6x? +21x + 26
(a) 6 (b -6 (¢) -2 (d) 0 (e) 2
13.  The following graph corresponds to which function?
/f"'ff
(@ y=lnx b y=Inx-2) €) y=lIn(x+2) @ yogxs2 (&) y=er.g
14,

If g(x)=x?-4x+5 , x>2 write a formula for g~!

@ g7'(x)=(cr-2)+1

(b) g7 =y(x-272+1 () gl(xy=2+yx-1
(d g'@=yx*-4x+5 (&) g '(x)=2-yx~1 |



15.

16.

17.

Solve the equation x* - 27 = 0 over complex numbers.

@ 3, BBy 5, 32 g

© -3, 23 £33
| 2

Graph: Ax)y=27"1
@ ] (b)
\\ '
(c) [/ (d)
—:“""./

(e) \

Solve: (x +5|=lx- 4]

1 _ 1
(2) 5 (b) 1 (c) -1 (d) 5

(d) 3,-3

22
(e) 5



8 5
18.  The multiplicative inverse of the matrix 4 = L ZJ is

i ] 11
@ |7 |7 @ > d
? -3 -2, -3 8 Yl g 5
r _ 3 2 3 9
© -8 ~5
° 3 2]
19. Find all the solutions of 4x +5 = Ine *°
@ 5,-1 ® -5,1 © i— @ 2 @ 1,5

20.  Which of the following functions can not have the following zeros: 0, 2, -3?
(@ Ax)=3x3+3x2-18x (b) g(x)=x%x+3)(x-2) (c) Ax) =5x{x +3F (x - 2)

d jx)=x"(x+3)(x-2)* (e kx)=2x3+8x%-6x- 36

21.  Find the center of the circle 4x%+4y2+20x- 16y +37=0
25 5 5 5 5
a ] b -=,-2 c -2 d ~=.2 e -, -2
029 o3 03] (3 o3
22, A company’s profit function based on advertising doilars spent is P(x) = 200 + 27x - 0.3x2,
where x is the number of dollars spent on advertising, and P(x) is the profit in dollars.
The company’s maximum possible profit is:

(a) $200.00 (b) $418.70 (c) $807.50 (d) $862.50 (e) $2,660.00

23, Letf(X) = ¢in?x +cotxsing + cosxi -1 » then f(x) =

sin®x + cos*x + tan’x

(@ cosx M {iginZx © 1-sinx (@ o83 € sinx ranx

2+ CoSx

sin



24,

25.

20.

27.

28.

29.

What is the end behavior of the following polynomial, A(x) = ~3x> +2x - 17
(a) The left-hand tail rises and the right-hand tail falls

{b) The lefi-hand and right-hand tails both rise

(c) The left-hand and right-hand tails both fall

(d) The left-hand tail falls and the right-hand tail rises

(e) The left-hand tail falls and the right-hand tail terminates

If two “fair” dice are rolled, what is the probability that the sum of the uptumed faces equals 67

2 5 3 3 1
@ (b) % © 5 @ = (e) s

A ladder 15 feet long leans against a house and makes an angle of 60° with the ground. Find
the distance from the house to the foot of the ladder.

(a) 13 feet (b) 7.5 feet (c) 8 feet (d) 10 feet (e) 8.2 feet
Suppose a properly inflated basketball is designed to bounce back up to one-half of the height
from which it is dropped. If such a ball is initially dropped from a height of 10 feet, find the

total vertical distance it has traveled when it hits the floor the 5th time.

(a) 50 feet (b) 19.375feet (c) 28.75 feet (d) 30feet () 38.75 feet

Find all the roots of 8x3-27=0

(2) ~3—, no other solutions ® 3’ A 3iy3 © 3 , ~3£33
z 2° 4 4 2’ 4
@ 2,2824218 @ 3, -12¢453
2 3 2
1 2x-1
Solve for (.._] =81
3
3 ' _3 bl d) 23 (e) 2
(a) 3 ®) -7 © 3 ( >



30,

31

32.

33,

34.

35.

Find Alx +Ax)-Ax) for Ax)=2x%+3x+1
(@) 2(Ax)* +3(Ax) (b) 4x(Ax) + 2(Ax)* +3(Ax)
() 2xXAx)? +3x(Ax) + 1 @ 2(8%)° +3(A%)? + (Ax)

(e) 2x?* +4x(Ax) +2(Ax)* + (3(Ax) + 1

Identify the graph of 4xZ+y%-8x +6y +9=0

(a) circle (b) hyperbola {c) parabola (d) ellipse (e) logarithm

1
x+2

+2

Find the y-intercept for g(x) =

5 5 ) H
(a) ("5,0] (b) (Ow—z—) (¢) (-2,2) (d) 0,2) (e) (0,2}

An airplane flies 300 miles from the airport in the direction 110° and then travels 400 miles in
the direction 200° for 400 miles. How far is the airplane from the airport?

(a) 250,000 mi.  (b) 10,000mi. (c) 500mi.  (d) 50mi.  (e) 800 mi.

Find a polynomial with real coefficients that has zeros: 0,2, -2, 2i, ~2i

(@) Alx)=x*+16x B Ax)=x°-16x (€) Axy=x’-16 (d) Ax)=x*+16

(e) fixy=x*-16

Find the value of & In the quadratic equation, y =ax? + bx + ¢, if its graph passes through
the points (~1, 4), (1, -2), and (2, -2).

(a) 2 (b) -3 (c) -2 (d) -1 (e) 3



36. Let x be a real number and in the domain of the function

fixy =arc cos(3x%), then  sinarc cos[3x?) =
(a) J1-9% by 3x2-1 © 3 (d fT= 0% (&) 1 -3x2
-3
37 simplify: AP
az _ bl
=]
1 a+b B 1
(@ — 7 (b) NPT (c) a-b (d) a+b (e) P

. 1
38. Find log,
& a

@2  ® -4 (@ § ) ;‘1- (© -2

39.  The path of a particular bottle rocket is modeled by the function A(f) = ~16¢* + 117¢+5
where £ represents the number of seconds that have elapsed and A() represents the height of
the rocket in feet. According to the model, approximately how long will the bottle rocket stay

in the air?
(a) 5 seconds {b) 7 seconds (c) 20 seconds (d} 117 seconds

(e} 2 secon&s

40. Solve A4 =B*-4B for B
() B=34%-A4 (b) B=4= ‘”29‘4 (©) B=2%3+4  (d) B=2= 54

(€) 24+444%- 1













